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WEST BENGAL STATE UNIVERSITY
B.A. Programme 5th Semester Examination, 2021-22

ECOGGEC01T-Economics (GE1)
INTRODUCTORY MICROECONOMICS

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate marks of question. &Nfee T 0Z TG LT T e T
Candidates should answer in their own words AT e CIRNT TRl FE&] 7NN I
and adhere to the word limit as practicable. Geq e 291

I. Answer any six questions from the following: 2x6 =12

feafere @-IAl =316 eltea Teq wies
(a) What is budget line?
CED @A FIF 6 9
(b) State the law of Diminishing Marginal Utility.
FEe aifes Seiiiior [ Srad e
(¢) What is the slope of the demand curve for a normal good?
A TEIF GGG HIfEwl @R B (e 2(J 9
(d) Distinguish between Gross Profit and Net Profit.
GG AP € TS TR [y AL Teaed Fh

(e) What is the shape of the Average Revenue Curve in a perfectly competitive
market?

s§¢fft eferaifTenE AT FICH T SNEH @R AFFo @5 23 2
(f) What do you mean by Long Run in Production Theory?
Teriive ©rg MNP F10s 5 @RIT ¢
(g) Distinguish between money-wage and real-wage.
il TG @ eiFe TR N1 2N Fel
(h) What is the value of Marginal Fixed Cost?
eifes g Ia-93 W F© ¢
(1) State the law of Variable Proportions.
SAfSTNe SeeiiTed 79 Srad Sl
(j) What is an isoquant?
FANCRA W @ FICF I 2
(k) What is price discrimination?
VIS RS0 P A0 9
(I) What is the shape of Average Fixed Cost Curve?
% 3 8 @I It & @17 ¢
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2. Answer any two questions from the following: 4x2 =8
fasfeie @-ie 76 avea Ted wies

(a) Distinguish between ‘Change in demand’ and ‘Change in quantity demanded’.
pifzwid “fies” @R Bifenix wifasies sfiaes’-aa s 21w @t

(b) How is price-elasticity of demand measured for a particular point on a negatively
sloped straight line demand curve?

WS Toge FReE T it @R @il e Rre viftrnm wiee fEfogves!
IreI Ifwliot T2 27 9

(c) Discuss the features of a perfectly competitive market.
it eifcaiferer Arsitaa @fiEref siEst s

(d) Discuss the characteristics of an Indifference Curve.

e @ (RIS STl S
3. Answer any three questions from the following: 10x3 =30
fefIie @-ie foqfs aiesw Tex niss
(a) Discuss how equilibrium of a consumer is determined under Indifference Curve 5+5

approach. Show how Total Price Effect = Income Effect + Substitution Effect.
s @ oafore [Feim aaoe (For oy e =@, ©f S sl
G W 2O = B &eld + 7T 2ok — Foi & mreie|

(b) What is a Production Function? Explain the relationship between Total Product, 2+8
Average Product and Marginal Product with suitable diagram.

T TNFSF FIE A 9 (NG o, o Teoiivel € s Teolveas W 7ol
TR Hoaag SCAlbl S|

(¢) “A monopolist firm does not have a Supply Curve” — Explain.
“ LA PRI CFCT (I @9 @A AT A — I FCA
(d) Distinguish between long-run cost and short-run cost. Why is the long-run average 4+6

cost curve called the envelop of the short-run average cost curves?
RPN R € FHPEA TJF-9F T 1L T RGN NG @RNCE Sl
NG @A AR ~oKF Io7 =T & 2
(e) How is short-run equilibrium of a perfectly competitive firm determined? Explain 5+5

the shut-down point and the break-even point of a perfectly competitive firm with
diagram.

o eferforee FoR FeEm o Foa Nl s =@ ¢ a3l o
2fSIfAeITeF FIC Shut Down Point @3 Break Even Point 5@ i<t St

(f) How is profit generated? Explain the Ricardian Theory of Rent. 2+8
el AR Oed = 2 RS demi ©glh St e

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Programme 5th Semester Examination, 2021-22

ECOGDSE01T-EcoNoMics (DSE1)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate marks of question. &Nfee T 0Z TG QT ST e T
Candidates should answer in their own words AT e IR I TG TN N
and adhere to the word limit as practicable. Geq e 2691

I. Answer any six questions from the following: 2x6 =12

fafeiie @-wieT =7 @lcea Ted nies
(a) Distinguish between population and sample with an example.
G575 TrizgerT e @ T Wy SNy e e
(b) Distinguish between variable and attributes.
5T @R WeRIbF-F e 2Ny Ao el
(c) Define frequency density.
SARPRAT TGS TSR 7S |
(d) Define line diagram.
@RI el wie)
(e) Define ogive.
Ogive-«d e[ 78 |
(f) What do you mean by central tendency?
@AMl IETce F1 @I 9
(g) What is mode?
TRV T B 9
(h) What do you mean by frequency distribution?
AR Koo Fe1ce I QIR 2
(1 If X;=4,5,6,7,812, find median.
M X, =4,5,6,7,8,12 T, NG W ey St
(j) Define simple arithmetic mean.
7@ aNfelfos alted wKe! wie )|
(k) What is Standard Deviation?

o faprfe ¢
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(I) If A.M. and SD of a distribution are 50 and 2 respectively. Find the coefficient of

2.

(a) Distinguish between complete enumeration and sample survey with suitable

(b) Draw the histogram and frequency polygon for the following data.
o3 AR ey SASCET =R AR IQYS S I |

variation.

I e Ao o ¢o ¢ I Rpyfo & 20 iz 72alF W9 F© 9

Answer any two questions from the following:
fasfeie @-ie 76 avea Ted wies

example.

e TriZarid AR @ TR $ReEd Wik 2N e e

Marks in statistics

(AR g 77m) | 15-20

20-25

25-30

30-35

35-40

40-45

45-50

Frequency (°If&R4) 2

8

36

34

12

(c) Briefly discuss the advantages and uses of Arithmetic mean.
afefes s10Ts Rl @R RS FKEFCA v FC |

(d) Compute the value of arithmetic mean and mode from following data:

(a) Briefly describe different parts of Tabulation. Distinguish between primary and

(b) (1)

5260

ERiRe v @ Afafes ofe aar FewEa s {6 T

10, 20, 30, 10, 20, 20, 50, 10, 10, 35, 55, 10, 65, 10, 72, 10, 42, 10, 192.

Answer any three questions from the following:
i @-cPie foafs even Ted wiss

secondary data.

w(@d [fon sr=iefe MEwel el S Qi a7 G 9 e s gy

(eTCA|

Draw a suitable diagram to represent the following data:

@3 Tviye oraq M WEEe S Sorgee Sl

Relative contribution of different regions of the world to the total world

population (7R (T SR 897 [Kfon qxew 2er):

Region (¥1%#) | Population (&«*R4)(in million)
Africa 336
North America 309
South Africa 180
Asia 1946
Europe 455
Oceania 19

(i) Distinguish between bar diagram and histogram with a suitable example.

ToRe SRR AR Wefbd @R SO [ #1947 @l

4x2 =8

10x3 =30

6+4

5+5
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(c) Distinguish between discrete variable and continuous variable. Explain the concept
of Mid-value, frequency density and cumulative frequency distribution with

(d) Mention the uses of Median. Compute the value of Arithmetic mean from

suitable example. Define relative frequency.

Riftey vo¢ ¢ wRfoen veltea W AN oot @ Solge Swimdci TR
SR, AR WY @R AT ARPRAE =N’ it wea | SR cfreE

TR NS |

following data.

TR IR @1 anfifes sitea Wt FERe vy @ FdT s

X

10

20

30

40

50

60

f

5

8

15

12

6

2

(e) (i) Write down the criteria for a good measure of central tendency.

AM=3.68
aMfdfo T 3.68 el ACeT Weare “ifoRyl AR @ gt WEme AAkera
ifea Fea:
Value of x 0[1]2 [3|4 |5]6 Total (GIB)
Frequency (°If&%R=m) |2 (8 [ 13229 |2 |10 100
(f) (i) Explain the important features of standard deviation.
e Rpfer wwmeed igref i s@l
(i1)) Compute the value of standard deviation from following data:
forafertie ooy e e Rpyfer we feda st
4,5,6,7,8,9,10

5260

F@ANfeR T #AfwioFa sTwepmz Mo Fe

(i) Find out the two missing frequencies for the following table, given that

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end of
exam. University / College authorities will not be held responsible for wrong submission (at
in proper address). Students are strongly advised not to submit multiple copies of the same

answer script.
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4+6
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B.A./B.Sc. Programme 5th Semester Examination, 2021-22

ECOGDSE02T-EcoNoMics (DSE1)

ECONOMICS OF SOCIAL SECTORS

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate marks of question. &Nfee T 0Z TG QT ST e T
Candidates should answer in their own words AT e IR I TS TN N
and adhere to the word limit as practicable. Geq e 2691

GROUP-A / es-=

1. Answer any six questions from the following: 2x6 =12

fafeiie @-iea =76 eivea e mes

(a) What is poverty line?
w5 ¢

(b) How you will calculate the Education index in HDI?
[ THE o F1-BoPpS (P P T T 9

(¢) What do you mean by infant mortality rate?
RieTga 717 @1 & @I 9

(d) What is meant by population explosion?
GHRETIRE TE00 B Q@R =7 9

(e) Give two examples of investment in Health Sector.
FIECHG [ 710 Sriggd wie)

(f) Do you think a population increase in a country will also raise the poverty level?
Off & W F@ @ (e TR A 3 (it @ e wifRwye 3 i o

(g) Why was GEM introduced?
GEM (fevt o ifasiel) @ 2[fes 27 ¢

(h) What do you mean by ‘Demographic Transition’?
‘GRS FANTT IECo T @I 9

(1) When can we say that the population of a country has reached the optimum level?
(@I (T SR AT PO SREC (FRCR @5 L SR FU &0 2417 9

(j) How can the vicious circle of poverty be broken?

VIR 725 el ©iel @0 Al 2

(k) Can an increase in Education expenditure lead to an increase in per capita income
of'a country?

(I8 (e RERIRICS T3 I 76 G2 (resta ifeig S i F0s 7 ¢
(1) What is Sarva Siksha Abhijan (SSA)?
‘TR SRR 9
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2. Answer any two questions from the following:

fefeiie @it 7 eives e mes

(a) What is Human poverty index and what are its components?
R wIfFEPES ¢ 27 00T Somiaef @l

(b) Is there any relationship between Poverty and Gender bias?
wifwy @ fort (A T (TS 70 wieg [ 9

(¢) Discuss the essential components of human development index.
TR SR B 2 SRS FIE S T |

(d) Discuss the relationship between education outcome of a country and its
economic development.

@ e e e @ QST Samcas s vl S

GROUP-C / eiol-4t

3. Answer any three questions from the following:

fafeife @-cpiea fofs evss Tes mes

(a) Discuss the methodology for constructing the Human Development Index (HDI).
TR T T WO @S A FEAl |

(b) Discuss the role of health system in improving the human capital as well as
economic development of a country.
AR T @ AT ST CFCT (0 TR US| SCs1 SRl |

(c) Discuss how economic development and population growth are related for a
developing economy.
TS (T CF(g AT T 8 TR I (FATOIE TR O ol
N

(d) What is quality of life? How this can be improved by the increase of Per Capita
Expenditure on Education infrastructure?

Gl W & 9 RERCHE AR T3 I it @8 e el oo 21 ¢

(e) Discuss different Poverty Alleviation Programmes that has helped Indian
Economy to reduce the level of poverty.

oo widqifere wikimR w7 FNER & [ifon wiiw w8 SO0 Feot ARy
FCACR O G0 I

() Why did Gender Development Index arrive? Discuss different steps of
calculating this index.

erifofes T piea IRSR v 90fes 2 @2 b Fdem R[Rfen divtefr Sitmal
N

N.B.: Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour
after end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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4x2 =18

2+2

10x3 =30

4+6



